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QUESTION 1

Which configuration command sets the MPLS interface bandwidth to 15 Mbps? 

A. set bandwidth 15 

B. mpls bandwidth 15 

C. set bandwidth 15000 

D. mpls bandwidth 15000 

Correct Answer: D 

 

QUESTION 2

Which command displays the result of a loopback test you executed on a CT3 line module in slot 5, port 0,t1 number 4? 

A. show interface 5/0:4 

B. show interface 5/0:4/1 

C. show controllers t3 5/0:4 

D. show controllers t3 5/0:4/1 

Correct Answer: C 

 

QUESTION 3

An enterprise has three servers behind a Juniper DX SLB, labeled Server A, Server Band Server C. They have chosen
to use the Weighted Round Robin algorithm. Server A has been assigned a weight of 10,Server B a weight of 10, and
Server C a weight of 0. 

What percent of traffic will go to Server C? 

A. 0% 

B. 10% 

C. 100% 

D. 33% 

Correct Answer: A 

 

 

QUESTION 4
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An enterprise uses a Webtiered application that provides NTLM end user authentication. What is the required Cluster
option? 

A. DSR 

B. Connect Method 

C. Connection Binding 

D. Sticky Load Balancing 

Correct Answer: C 

 

QUESTION 5

When running SSL on a nonweb application, where are the secure connections made? 

A. between the client and the DX appliance and between the DX appliance and the target servers 

B. directly between the client and the target server(s) 

C. between the client and the DX appliance 

D. between the DX appliance and the target server(s) 

Correct Answer: C 
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